5 Port Air Operated Valve

Series VZA2000

Base mounted

Body ported

Specifications

Fluid Air
VZA2121, 2141 0.1t01.0
Operating pressure range (MPa) 7 7 2
VZA2321, 2341 0t01.0
Pilot pressure range (MPa) 0.1t01.0
Impact/Vibration resistance (m/s?) Note) 150/50

Operating pressure < Pilot pressure

£

and OFF. (Value in the initial stage)
Vibration resistance: No malfunction from test with 8.3 to 2000 Hz 1 sweep, to axis and
right angle directions of main valve, each one time when pilot signal
ON and OFF. (Value in the initial stage)

Note) Impact resistance: No malfunction from test using drop impact tester, to axis and right
angle directions of main valve, each one time when pilot signal ON

Model
Flow characteristics Pilot port
Valve model Function Port size 124/2(P>A/B) 4/225/3(ABEAED) Pilot piping
c c portsize | |ocation
b Cv b Cv
(dm3/(s-bar)] (dm3/(s-bar)]
3 |VZA2121-M5 2 position Single 0.60 0.43 0.15 0.59 0.30 0.15
§_ VZA2221-M5 Double 0.60 0.43 0.15 0.59 0.30 0.15 M5 x 0.8 | Body side
§* VZA2321-M5 3 position Closed center M5 x 0.8 0.56 0.15 0.13 0.59 0.22 0.14 x5 Y
o | VZA2421-M5 Exhaust center ’ 0.60 0.20 0.15 0.59 0.22 0.14
VZA2141-1-01 . Sub-plate side|
o [VzA2141-2-01 - Single 1.0 0.30 0.25 0.90 0.25 0.21 Body side
£2 [Vzazz41-1-01] 2 PO1" Sub-plate side
Sa D | 1. . 2 . 2 .21 -
ég VZA2241-2-01 ouble 0 0.30 | 025 0.90 025 | 0 5 x 0.5 LBOTY Side
2 1VZA2341-1-01 " [Sub-plate side
DS . 2 .21 . . . -
§§ VZA2341-2-01 3 postion Closed center | Rc 1/8 0.90 0.25 0 0.71 0.30 0.19 Body side
[ vzA2441-1-01 Sub-plate sidd
Exh 1. . 2 . 2 .21 -
VZA2441-2-01 xhaust center 0 0.30 0.25 0.90 0.25 0 Body side

@,

JIS symbol
Body ported

2 position single
(AXB)
4 2

Note) Model number for base mounted style without sub-plate is VZA2[141-1.

Compatibility with universal porting is possible except for with the single type.

2 position double
(A)(B)
4

Foot Bracket

Air operated valve model no.

VZA2121-M5-F

5 3
(RIXP)R2)
3 position exhaust

5 3
(R1XP)(R2)

3 position closed center

center
(A)(B) (A)B)

4 : 4 2
AR\ AN hAK
51 3 5 1 3
(R1)(P)(R2) (R1)P)(R2)

Base mounted

2 position single 2 position double
(A)B) (AXB)
4 2 4

. i

51 3 5 3
(R1I}P)R2) (RIXP)R2)
3 position exhaust

3 position closed center

center
A)B
®®) e
o 5 1 3 o 5 1 3 o
(RI(P)FR2) (RI(P)(R2)

Gentle Automatic Solution

How to Order Manifold Base

Use the same manifold bases as the VZ2000.

(GEIA7LV I CORREYLVE Specify the same manifold part number as VV5Z2.

* To order valves and blanking plate assembly mounted onto the manifold, list valves and blank plate
assembly with manifold base part number.

<Example: Body ported>

VV5ZA2-20-051-------- 1 pc.
VZA2121-M5- v 1 pc.
VZA2221-M5.----
VVZ2000-31A-2------- 1 pc.

<Example: Base mounted>
VV5ZA2-50-051-01-----. 1 pc.
VZA21471-2cceiiiienennnns 1 pc.
VZA2241-2..-.. ---3 pcs.
VVZ2000-31A-3- - vveeeneee 1 pc.

Sub-plate Assembly Part No.: VZA2000-S-01

Q * Mounting bolt and gasket are not included.

A Caution

Thread type

Nil Rc
N NPT
T NPTF
F G

r
| Be sure to read this before handling. Refer to front matters 58 and 59 |
| for Safety Instructions and pages 3 to 7 for 3/4/5 Port Solenoid Valve |

1 Precautions.

bl o o o o o o e e e e e e e e e e e e e e o mm mm wd

Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



Dimensions: Body Ported

5 Port Air Operated Valve Series VZA2 000

2 position single: VZA2121-M5

15

2 position double: VZA2221-M5

37

Gentle Automatic Solution Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my

26.5 2x02.8
12 Mounting hole 10
f\ — — l/‘"\l
Yt e=|m14§» O P |
o | % i ¥
10 ' . . / 12 [ 12 \ Pilot port (A side)
— Pilot port (A side) Pilot port (B side) 275 26.5
2x02.8 M5 x 0.8 2xM5x0.8
Mounting hole
2x02.8
Mounting hole
|
| ] SMC] A/ N @@
— —_ o o9 5)
ol o bl J | | @7
& 2 J An \
~
12 12 Manual override
12 (Non-locking)
Manual override
(Non-locking)
5x M5 x0.8
s B &
ARG J O g
Syt 234
95/95
95 95 Sx M5 x08 335
335 68
59
3 position closed center: VZA2321-M5
3 position exhaust center: VZA2421-M5
38
12
Tl
AR Van K ~ —
24 45—’:]\ ) !L{)l,_ L(1_)
7 J‘ ms=A {
2x0@2.8 \ Pilot port (A side)
Pilot port (B side) Mounting hole
2xM5x0.8
2x02.8
Mounting hole
i A e
1 ) 2N
; M QN G
T e\
Manual override
(Non-locking)
Pl ¢
LOI A 4
& F




Series VZA2000

Dimensions: Base Mounted

2 position single: VZA2141-1-01

Pilot port (A side)
Body side M5 x 0.8

S

Pilot port (A side) f III
M5 x 0.8 sub-plate side I,'

2 position double: VZA2241-1-01

Piotport(Aside) /ST | 7 | 17
Body side 205 b Pilot port (B side)

2x 4.5 AL ME v O
e 450 2xM5x0.8
Mounting hole f %

.I_'

Pilot port (A S|de) B Nl,r"r 5x Rc /s_-'I
Sub-plate side

ﬁﬁ

Pilot port (B side)

HR|:‘1

2 x M5 x 0.8 sub-plate side

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



5 Port Air Operated Valve Series VZA2 000

Dimensions: Base Mounted
3 position closed center: VZA2341-1-01

ssmil

.-'q'\ 1

Pilot port (A side) , 3

Body side ¥ - B )
2x045 Fi L 205 ',.Pilot port (B side)
Mounting hole 405 | 2 x M5 x 0.8 body side

Rt
-3 Ir-i
'y
: f_]lf'-_-ﬁ_
, f | /
Pilot port (Aside) | Pilot port (B side

Sub-plate side 2x M5 x 0.8 sub-plate side

3 position exhaust center: VZA2441-1-01

Qt i"tm%sg

Pilot port (A side)

Body side
2x 245
Mounting hole

. P|I0t port (B side)
2x M5 x 0.8 body side

/5xRc %

Pilot pOIt( s'de) e rem e
A |
.l'.. Plotpot(Bsde)

Sub-plate side T
2 x M5 x 0.8 sub-plate side

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



